27 - \ [.I‘
AP IR ERARP REN IR RS R F ML F R T
= 3 Ko i 7
Bl 5 oA L REPH JRONTEFEABAPESR -
2. "% -3 Ao TR o | (FEMRLE60 44
$oATEE R FATRE 154
[f2e- ]
1 PRERFRFHR I3 A Sa e 5o by - Bl £ 5 1 a3 8403 Po
2 el e Q’E% LEEk RIKET L0
Q+P=(1+13)13 —91 "
0 P=1 > K+1=91 * K=90
= =K a=PK ftA Qp=91 Q+P=31 > Q=30
f>2)91 K+1=1 > K=0
PK+P=91 =91 » K+1=1 » K=
P=91 » = R
P(K+1)=91 Q+P=91-> Q=0 53
(1)1x 91=91 a)
(2)91x 1=91 P=7 > K+1=13 > K=12
(3)7 x 13=91 Q+P=91 > Q=84
(4)13x 7=91
(4)
P=13 > K+1=7 > K=6
Q+P=91 > Q=78
& K=6-12>90

AR MTI RS EFLER




#AP LB ERRY KBS KT FF L F XY

THL O il 1

B LY ﬁpiﬁmﬁ BRNTEHRAEP F R
Fome o THome | FEREFLI60 440

Hixl %
2.

¥ =

-n\q.

\f%g?" > ﬁ{gﬁ,‘r‘g 15 A

[35%2 -]
2. 4ot B > © RO 5% /2300 AB =24 >
BC?* =CEXCD > 3% § ™ 7|4 -

(1) #-3.m ADCB~ABCE -

D
(2) AABC % % % io B

(1) F15BC?*=CE XCD >

&H g
°°H S

» £DCB = £BCE » F|*

ADCB~ABCE(SAS #p 12)

(2) %15 ADCB~ABCE #7121 £4BDC = £ABC » ¥*AC=%BC »
AC=CB > *t" 1 AACB % "= &2
F12AC=CB~A0 =B0O #*12 C~0 @ 8L & AB ¢hv -4
Flgt CO #3 T i~ AB
@3 0B =15~ :#40C2AB** F OF LAB > AF =FB =
12 d 2 X337 (F0F =9 - FC =15—9=6

é&:AABCzix6><24=72

Z: AABC=72 T H i

TLATHE NTIREEXEFER

. + . 5
4 *E

-~
a3

e




